e a

-groltechimircher Hydrierverfdl

~ Reaktionen:

Produki’ -

m-' Ha pro 110 Warmetonung

- kal/Mol

i zArﬂmoni*aksynthesé

"‘Methanolsynthese

_ydr/erung vdn

Kohle
: ,_,Erdoel e

Teer

 TeertHy = -

R fBenz: n .

Benz_rn

Benzm )

| atovo

2000

_f:'QO‘O - ,} s

" axotherm 1.

- axotherm

2xotherm |

e

Methanolsynthese
Usobutylalkohol .

Methanbrldung

Hydrierung von -

K’ohle,Erdoel und Teer :

Methanbildung.

- Ne;bgh‘ré‘.akﬁfibnenr

4C0+8Hy =
CO+3Hp »= -

Cz,,HyOH + 3H20
CH:, + H0

n

C16 Hzs + 15H, 16 CH,

i

Cs Hs CHZ CeHs + ZOHZ 13CH,

2420
4200

1300
2150

+52

197
1273




